5 4 3 2 1
+3.3V JPL
|+EC1 —Lm —ch —Lcs —LCA 5 (o)
T~
22UF 1UF 1UF  (0.1UF 1UF 1UF 1UF
o
68$ TX+A c7_||0.1u 4
| N w
P2 TXA c8 |loau 2| usB3_TX+ £
USB3_TX- &
. — o
o 2| USB3_RX+
: | USB3_Rx-
I D+A 3 GND
+3.3V DA 2 Bf
11 vBus
VBUS 5V JP3
SEEEEE]
a U1 EC2 Ci1 CON_USB3.0 TA_RECEPTACLE
o-l<<on +
C9_|[0.1u zWrsaz 0.1UF
4 penp 3 1 Tx+ OORE>D RX+A 100U
w |10 1 I 27
DPWR ™+ T RX+A
z C10 | |0.1u TX- 2 I | 26 RX-A
# USB3_RX+ T RX-A 28 B
USB3_RX- a1 RX+ ~- voo TX+B [52 TXE —
GND —7—6 I R = RX+ TXB [ 22 e
USB3_TX+ [ I Br 2 Rx- RX+B 25 RXB
USB3_TX- D- 2 D+ RX-B
GND _4; | USETD - o- GND |24
o+ |3 - UsB_ID VDD _20.1q —  bea
D- VDD D+A
veus |- VBUS_5V ?)SE#SEL 10 ss_seig DA 8 BSAB DA
=— OE# =,  USB_IDA -
JP7 = [a): oY)
QT +0
CON_USB3.0 TB_RECEPTACLE +EC3 c12 >20a> =i 51
Jodddd PIBUSB3102ZLE@TQFN32 C13 ||0.1u _
100UF| 0.1UF EEE G 9 o
c14 |[0.4u 2| usB3_TX+ £
USB3_TX- &
= @ —7—6 GND
= [S) & | USB3_RX+
@ 2| USB3 Rx-
= D+B 3 8+ND
+3.3V D-B 2 D-
P4 1] vsus
JP10 VBUS 5V JP8
HS SEL =
JP5 USB ID CON_USB3.0 TA_RECEPTACLE
+EC4 | C15
JP11 -
SS SEL 100UF| 0.1UF
USB_IDA
JP6
? JP12
OE# “T USB IDB
VBUS_5V
+3.3V
U2 ? j) JP9
S VN vouT |2 :
D1
+ EC5 c16 +EC6 c17 LED_G
<22uF 0.1uF ADJ/GND 22uF 0.1uF x
CI1117-ADJ X
R NP
] R2 = =
= 0 R3
510
[Title
ize Document Number ev
B <Doc> B
Date Monday, September 10, 2012 heet 1 of
5 | 4 | 3 | 1




